| dE/dx estimator 1 |

0.3

0.25

0.2

0.15

0.1

=

- Entries 36355
- : Mean 3.497
__ """"""""""""""""""" Std Dev 0.9299
Co Entries 36565
N Mean 3.496
r : Std Dev 0.9277
C R N Entries 36592
- : Mean 3.496
Co -l Std Dev 0.9275
AR i Al Rt AR Entries 36489
o : Mean 3.495
- : Std Dev 0.9264
C Entries 36505
L : Mean 3.495
- : Std Dev 0.9263
_J. L1l I L1 1l i 1111 . 1111 1 | I | |

; = #

LLELELLLE
T ok | 5 [# 4

Tl L

dE/dx, harm?2

7 8 9 10

| dE/dx estimator 2 |

0.35

0.3

0.25

0.2

0.15

0.1

0.05

V4]

Ratio
|_

0.95

o

= - - - Entries 36355
iy R R b Mean 3.226
= ; ; Std Dev 0.9028
NSRRI, & SELE-EIIIE Beeeeiae Entries 36565
- : : Mean 3.224
I : Std Dev 0.9007
L : Entries 36592
r : Mean 3.224
IREARIAE R & IR R SR A Std Dev 0.9006
C : Entries 36489
AR A I S S A Mean 3.223
| : Std Dev 0.8996
_— """"""""""""""""" Entries 36505
- : Mean 3.223
C : Std Dev 0.8996
_J.I Ll i L1l i 1111 i 1111 i 1111 | 1 11 : } i 1 1 i ! 1
f s i
: *T :
3 e T T4 smee
: : - | F :
: : ¢
: : : T
1 2 3 4 5 6

7 8

9 10

dE/dx, trunc40

—=— DM MRET_XIMMusNOPU mewDefauits

—o— DOM”mKFIt”_XiMinusNOPU”NEWdefault_specPLess1

—— DOM_mkFit_XiMinusNOPU_NEWdefault_specPLess2

—t— DOM”mKFit"XiMinusNOPU”NEWdefault“specPLess3

—— DOM”mkFit”_XiMinusNOPU_NEWdefault“_specPLess4
0 1,_ ............................................ CTres SUS0J " T T T —TTTe S 36355
L Mean 11.39 0.45 R T S o Mean 0.9532
3 Std Dev 4.179 ' : : Std Dev 1.228
_ Entries 36565 0.4F i """"""""" """"" Entries 36565
0.08 N i D A A Mean 11.44 : : Mean 0.953
3 Std Dev 4.202 0.35f -t AR SRLLLLE RRRRRRERER Std Dev 1.228
- Entries 36592 0.3 oo SRR e Entries 36592
0.06 [t Mean 11.45 Tk : : i | Mean 0.9529
L Std Dev 4.204 E : : . | std Dev 1.228
i ! ] 0.25f ittt ]
._ Entriés 3648§ E : : Entriés 36485.3
0.04 =ik Mean 11.44 O SRR L SRR Mean 0.9525
R Std Dev 4.202 C Std Dev 1.227
. . O N SRRORS SYFUPPt SUPSUS SO 1
9 Entries 36505 o Entries 36505
. Mean 11.44 il I T S S S Mean 0.9526
0.02 A Std Dev 4.202 01‘; Std Dev 1.227
; ons;kmg ---------------------------------------------------------------
' | P I P T TS P

10

................................................

10 20 30 40 50 60 70 80

dE/dx number of measurements

(0]
[
T

k-

0.95%

0

10 20 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


